Skill 28: Types of Energy and Work

O 1. A 75-kilogram bicyclist coasts down a hill at a
B constant speed of 12 meters per second. What is

the kinetic energy of the bicyclist? K \ /
E = Yame”

A) 45%102] B) 9.0%102J \
@5.4x 1037 D) L.1x104] /a@'l‘“/s

"3_

2. If the speed of a moving object is doubled, the

kinetic energy of the object is \ -
A) halved B) doubled KE’ /2 MmN
C) unchanged D) quadruple )(9() L Kol

3. If the direction of a moving car changes andits  Jycocdion wadves Jocke
speed remains constant, which quantity must

remain the same? Mot
} ecs Alec
A) velocity Yo

Q O) displacemegc
N|

4. As a bullet shot vertically upward rises, the o p W\jg_ &dﬁb\
kinetic energy of the bullet S\ow CS\(‘)\DV\
ecreases B) increases o e Qacrenses

C) remains the same

5. A 4kg sloth climbs slowly from a 3m high limb
to a 5m high limb over a period of 12 hours. How ?E \\L \\ \'\

much{potential energy was gain@by the sloth? %ﬁ o /&X
A) 1.8x 1037 B) 8J
C) 1187 D ]
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W tal mechanical energy of a block as it is pulled
at

O

6. Which graph represents the relationship between the gravitational potential energy (GPE) of
an object near the surface of Earth and its height above the surface of Earth?

o
A) ©) g&»‘f‘b
Y & - \n
o T] ?E =W\ %
Height Height
C) D)
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7. Which statement describes the kinetic energy and

. Two students of equal weight go from the first

constant speed up an incline? PF/]\
A) Ié'rn\égﬁe-eﬁefgy—éeefe&ses and total -

mechanical energy increases.

B) Kineticenergy deereases andtetal
smechanical Tergy TenT@ins the-same.
Kinetic energy remains the same and total
mechanical energy increases.
D) Kinetic energy remains the same and total
mechanical energy remains the same.

floor to the second floor. The first student uses an
elevator and the second student walks up a flight
of stairs. Compared to the gravitational potential
energy gained by the first student, the

gravitational potential energy gained by the
second student is ?E? (‘l\%\ﬂ

9. An object weighing 15 Newtons is lifted from the
ground to a height of 0.22 meter. The increase in
the object’s gravitational potential energy is

approximately F’ -mg \'/O‘Q

4) 3107 B) 321 - 2om
© 337 D) 0.347 |

10. A spring gains 2.34 joules of elastic potential
energy as it is compressed 0.250 meter from its
equilibrium position. What is the spring
constant of this spring?

A) 9.36 N/m B) JRINm

C) 37.4 N/m D) 74.9 N/m
\
PESZ 93\3 W 7 s \
X =oBm Q307 \/a\FC o
=7

A) less B) greater
he same Q\\ oxe
Yo Sopd-
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11. Which graph best represents the relationship
between the elastic potential energy stored in a
spring and its elongation from equilibrium?

A)E

Potential Ener

Elongation

C A\ A

Potential Energy

Elongation
)

Potential Energy

Elongation
D)

Potential Energy

Elongation

12. A spring with a spring constant of 80, newtons
per meter is displaced 0.30 meter from its
equilibrium position. The potential energy
stored in the spring is

@;\(:&@ C) 127 D) 247
|0 P

™

13. A student does 300. joules of work pushing a
cart 3.0 meters due east and then does 400.
joules of work pushing the cart 4.0 meters due
north. The total amount of work done by the
student is

A) 100. 7 B) 500.7

X D) 2500. J
U ©& lar so 08 e

Wnoudr nattog QureSm
W)= JNY
14. A forcg o

. Newtons is used to pull a chest
weighing 50. Newtons at uniform speed a
distance of 5.0 meters. The work done is

A) 10. joules
D) 2,500 joules

C) 250 joules
_ O\ qoe wil dsenceSm
W) = 0. 0 o QA
QPWS‘\“ :SD-) @O, Y e
“Tha SON 16w cr%?ggﬁ
15. Which action would require no work to be do
on an object?

—
-~

A) lifting the object from the floor to the
ceiling d\(‘_\'\mggs. wse dowe.
B) pushing the object along a horizontal floor
against a frictional force d\&\wm wm—\tdw
C) decreasing the speed of the object until it

comes torest A Ohaaies
olding the object stationary above the
ground o A vio wot¥e
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16. A 1.5-kilogram cart initially moves at 2.0 meters
per second. It is brought to rest by a constant net
 force int 0.30 second. What is the magnitude of

“ {U the net force?
A) 0.40N B) 0.90N
D) 15N
Frur ol

O

17. A horizontal force of 40 Newtons pushes a
block along a level table at a constant speed of 2
meters per second. How much work is done on
the block in 6 seconds?

A) 807 B) 1207
C) 2407 DY 48

Fa = ¥ PR

d:\fj\‘

18. Which combination of fundamental units can be
used to express energy?

.~ .
A) Kaomls® B) kgem?s
C) kgemy/s? D) kgsm?/s
WL TFhQX '{V\\f‘ = LE
wanF Ye
T;C}*i AVAY

19. A joule is equivalent to a

%: Nes C) N/m D) Nis

d

20. Which term identifies a scalar quantity?

B) acceleration

A) displacement
C) velocity
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